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X{ XH -
S =

HO 2 MO
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2E L A
ool 2EN 2E L BB X4 (eol:@e)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
MIIEELES 1,260 1,260 0
OMYSTI S BTN ES24 1,260
s 2SS E=Hl 10,000 5,000 5,000
401 AIEHI L 20 10,000 5,000 5,000
01 Al&H 10,000 5,000 5,000
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307 21201 & 24,450 24,450 0
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OZFuMY =8 370,457
2 259,320
Al 111,137
02 2teltl 10,000 23,000 A 13,000
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A 222
B NHES AYs
ool PHER 23 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- XX (28) 12,000 2582 x12& 3,600
Oogsdz 200, 000& x2& 400
OREEEA&QI S| 7,380
— AF&I 01 5} 6,780
4%6 200 x200& x12& 480
- bx7 500 *500& x12& 3,000
- 8%10 2,000& x100& x12& 2,400
- 11x14 5,000& *x15& ~12& 900
~-ZENMEZE QGXFY 1,000& x50 & 128 600
OZ G| XM ==2lyl 1,500,000 14! 1,500
OREESAE EYH R 40,000& =10 400
OFEAHAIE AFXH I E bl 18,0003 * 124 216
odltedolz & co7¢ 10, 000 & x50 4 500
OFRFEEE HIOU2 HEY 100, 000& x4 3] 400
OZEZe X4l 1,779
— Al AEEH K X 7,234 ,000& *8% 579
—AfR e Z2 ) 15,000, 000 & *8% 1,200
ORU=E SHAIN &8 M= 4,640
- AMEHES 500,000*43] 2,000
-8o HE2 660,000%4 3] 2,640
ORAU= AEAHAIC FXE2HI 1,500
OoBega 2d2teltl 60,000 x12& 720
ooz dIAITHE AHA 0822
125,000& x2= +12& 3,000
02 3s2dH| 1,200 1,200 0
OJIXta JSgAIsE 100,000& *12& 1,200
202 04| 1,200 1,200 0
01 2L Y] 1,200 1,200 0
OAHEZ2F 0 H| 20,000& x5 x12& 1,200
TEHEEES AMHFA 4,600 4,600 0
203 ¥R =&H| 4,600 4,600 0
03 A=A R =AH| 4,600 4,600 0
OREEE R=XH| 3,600
OFREHEY =X (S| K23, SNSAH &
HEE) 1,000
SNS 29 10,750 14,690 AN 3,940
201 Bt A | 10,750 12,990 N 2,240
01 AR 22l ] 9,790 12,150 A 2,360
OE®IH, &1 CIX2l 150, 000& *63] 900
OE{H, 221 EE222 MZ
500! x2,000H 1,000




EX: S3=221
B NHES AYs
ool PHER 23 (S &2)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
O 849 ¥d1= 50,000 13| x10H x12& 6,000
OSNS AMEEH=X 29 15,7502 x10H 12 1,890
02 2=2=24%4| 960 840 120
OSNS M2 AQIEE 89 960
HHSHAY (S22 1) 80,607 66,672 13,935
Jleddl 80,607 66,672 13,935
Jl2 &4l 80,607 66,672 13,935
201 LBt 9| 17,247 15,492 1,755
01 AP 22| d| 17,247 15,492 1,755
O=AEXN 7 20,000& 90 A 1,800
o=Zziy EY 132,000 «3JH ~3CH 1,188
OZZelye ElY 3,783
-EU4Al 84,000 31 252
-EM 148,500 =8I 1,188
-2 156,200 3 4H x5} 2,343
OEM&9Y9YD 10,000& 18 »12& 2,160
OAZIAZ R X
7,000& x5.541x18H x 12& 8,316
202 o4 | 56,160 46,080 10,080
01 2L HI 56,160 46,080 10,080
O2LH O bl 260,000& x18H x12& 56,160
203 €2 F=&d| 4,200 4,200 0
04 2EA2E Y 4,200 4,200 0
oMY 350,000 x12& 4,200
405 XHAHF S HI 3,000 900 2,100
01 NHIMLEZFHSEH 3,000 900 2,100
Ozet Talyg 3,000,000 «1CH 3,000




